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Laamcoiel Solve AABC: A=50° B=62° anda=4.
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xampleS Solve AABC: A=47°a=20,and b= 12.
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Example 6 Solve AABC: A=36°b=17,and a=16.
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Example 7 A satellite passes over two tracking stations, 4 and B, 100 km apart. When the satell e {5 5etween thejtwo |

stations the angle of elevation at the stations are measured as 84.5° and 88.2° respectively. What is the
distance between the satellite and station 4.? How high is the satellite offthe ground?
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Example8 To find the distance across a river, a surveyor chooses points 4 and B, which are 200 ft. apart on one side of

the river. She chooses a reference point C on the opposite side of the river and finds that < BAC = 82° and
< ABC = 52° Find the distance across the river. ‘
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